Cost Accounting      Quiz Chapter 9        Name______________________________________

1. Absorption costing: 


A.  expenses marketing costs as cost of goods sold.


B.  treats direct manufacturing costs as a period cost.


C.  includes fixed manufacturing overhead as an inventoriable cost.


D.  is required for internal reports to managers.

2. Variable costing:

A.  expenses administrative costs as cost of goods sold.

B.  treats direct manufacturing costs as a product cost.

C.  includes fixed manufacturing overhead as an inventoriable cost.

D.  is required for external reporting to shareholders.
3. The contribution-margin format of the income statement:


A.  is used with absorption costing.

B.  highlights the lump sum of fixed manufacturing costs.

C.  distinguishes manufacturing costs from nonmanufacturing costs.

D.  calculates gross margin.
4. One possible means of determining the difference between operating incomes for absorption costing and variable costing is by:

A.  subtracting sales of the previous period from sales of this period.

B.  subtracting fixed manufacturing overhead in beginning inventory from fixed manufacturing overhead in ending inventory.

C.  multiplying the number of units produced by the budgeted fixed manufacturing cost rate.

D.  adding fixed manufacturing costs to the production-volume variance.
5.  Should a company with high fixed costs and unused capacity raise selling prices to try to fully recoup its costs?

6.  Morse Corporation incurred fixed manufacturing costs of $7,200 during 2007. Other information for 2007 includes:

The budgeted denominator level is 800 units.


Units produced total 1,000 units.


Units sold total 950 units.


Beginning inventory was zero.

The fixed manufacturing cost rate is based on the budgeted denominator level.  Manufacturing variances are closed to cost of goods sold.

Under absorption costing, fixed manufacturing costs expensed on the income statement (excluding adjustments for variances) total:

A.  $8,550


B.  $9,000


C.  $7,200


D.  0

Under absorption costing, the production-volume variance is:

A.  $450


B.  $1,350


C.  $1,800


D.   0

Under variable costing, the fixed manufacturing costs expensed on the income statement (excluding adjustments for variances) total:

A.  $8,550


B.  $7,200


C.  $9,000


D.    0

Operating income using absorption costing will be __________ operating income if using variable costing.

A.  $450 higher than


B.  $900 higher than


C.  $1,350 lower than


D.  the same as
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